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BEATS . HEAH EERZH RERE
- i1 e BER
i e ’ Eih HEE iz BE |En]  (HE Eth HEE pi:br ] HE |me| g=
BRFRAHE i 7. 7545 450 8 INER | KALAS 350| @
Eh HErE flE 2 e {FEE Ciche ] bua, 415 1,500| 18 SEETA5H 700| ke
B 61REH [TV 2V @% | 4,800 A [24B5F® | Ko E3#F ATNE 150( 1@ fZis 24 200 &
UIUTY DY 300| & EEE 100| 1@ N1 WWETLS 150| {&
37W/EMN |/ITVEVTO0- | 5,400 A 24855 1% IzxE (4954 200| {&@ {EE T 745+ 250/ 1&
25K#EH (TN @ANID 400| {& M nN34h5 150| & FELi] 10 100| &
1TX#ER  |3TANOANIE 1,000| 18 ER X2, #7755 100| {8 B ¥955 150| {&
11,900 {& b | 150| kg FIF IHEBEE Lyask 150| {&
k| pr | kg wa Ahrya- 4445 150] &
vl b i = N R RiE AT 50| kg BB Wt K55 50| {&
RERFNR 20 el |Las I WAF AU [
Eih HEE flE = e {HE (IT]=: e L NIEZ)S 100| 1@ H 700 kg
Rig FEEET)N *t+3'3k 300| 1@ £y Fhvz. Svest 250| 1@ 2,250 1A
Z450 K412 D7) S ISP R DD L[5 EiER Yy1hst 100| {&
=%l WA 600| {8 7' 150| 1@ =E 10
AL 200| f& FIsyE  [/MYSast 50| & ®HE—E
B F{H A7y 5k 50| {& HEX 55 ;4 415 200| 1@
i 24 & X5 KiR Wwadh)) 50| {8 Eth HEE e HE |me| g=
ERE RIT 1°vHn 15k & iR 75 100| 1@ REA S iz @45 =594 3,200| #&
Eig wWItH (TS 15k & EAR Yr4ast @ ERBS [Tinst Bhon'y 900| &
#1115k @ = I a# A @ BNYF 300| &
Fhvt @ 0} THER DY, [Yh4hst 50| 1@ Ras5 EARSN [#BE352 100( &
5 1,150 & B Hip ;o 50| {& Ficp ) -y o 350| #%
INE LIS 50| & Rl =579 100[ &
BEXE_ E 200 kg BE KEMHS  [EEFS 350| kg
B —i 5,650 {& BN wish - F VS 100[ &%
H 350 kg
Eih HEE A = e {FE = 1,500 &
Fi&s ki st H4'LT 800 kg 3,550 #
EES BHE 7t 200 kg Eh HEE s 2 e ([FE
Fi&s EH5 +¥3 500| kg KI5 = Ea5 150| kg &% 5320 ke
XS =HN 74 100| 1& FEis 150| ke 21,050 1A
i@ st =g BHIt 100| ke 253 200| ke 1,500 Z
BE WES B# 70| kg H¥F EAR R 500 ke 4,550 %
Y744 —VEN &0z 1,000| # BE 400( kg
g 1,670 ke pap BT 100| ke
100 f& B EENSIY 100| ke
1,000 VA BES &30 5 150| ke
X5 BEE Ea5 100| kg
BEE= Iz EETA 50| kg
P oS | Rk s 2R xR P PVIN L) 300| ke
R AR §EI E.L V5295 200 ke
Eih HErE ki = |t {HFE 2,400 ke
R L3E 7’5 200| 1@
R ¥n'st 400| 1@ yys
AN 200| (@ R
AR Al A h4t 200| 1& i HEE iz BE |we] (EE
i 75 30 VY 200| {8 iy =& #9545+ 350| &
K4t 100| {8 EES 150| 1@
= 7', 75% 45 300| 1@ HE h7°54 50| {&
&R E3R. 74 250| {8 E ) 1A 150 &
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